

RECURRENCE RELATIONS FOR THE SQUARES OF THE HORADAM NUMBERS AND SOME ASSOCIATED CONSEQUENCES

KUNLE ADEGOKE¹ — ROBERT FRONTCZAK² — TARAS GOY³

¹Obafemi Awolowo University, Ile-Ife, NIGERIA

²Landesbank Baden-Württemberg, Stuttgart, GERMANY

³Vasyl Stefanyk Precarpathian National University, Ivano-Frankivsk, UKRAINE

ABSTRACT. We derive recurrence relations for the squares of the Horadam numbers w_n^2 , where the Horadam sequence w_n is such that the numbers w_n , for $n \in \mathbb{Z}$, are defined recursively by $w_0 = a$, $w_1 = b$, $w_n = pw_{n-1} - qw_{n-2}$ ($n \geq 2$), where a, b, p and q are arbitrary complex numbers with $p \neq 0$ and $q \neq 0$. Some related results emanating from the recurrence relations such as reciprocal sums, partial sums, and sums with double binomial coefficients are also presented.

1. Introduction

The Horadam sequence $w_n = w_n(a, b; p, q)$ is defined, for all integers, by the recurrence relation [8]

$$w_0 = a, w_1 = b, w_n = pw_{n-1} - qw_{n-2}, \quad n \geq 2,$$

with

$$w_{-n} = \frac{1}{q}(pw_{-n+1} - w_{-n+2}),$$

where a, b, p and q are arbitrary complex numbers with non-zero p and q .

The sequence w_n generalizes many important number and polynomial sequences, for instance, the Fibonacci sequence $F_n = w_n(0, 1; 1, -1)$, the Lucas sequence $L_n = w_n(2, 1; 1, -1)$, the Pell sequence $P_n = w_n(0; 1; 2; -1)$, the Chebyshev polynomials of the first and second kind given by

$$T_n(x) = w_n(1, x; 2x, 1) \quad \text{and} \quad U_n(x) = w_n(1, 2x; 2x, 1), \quad \text{respectively.}$$

© 2022 Mathematical Institute, Slovak Academy of Sciences.

2020 Mathematics Subject Classification: 11B37, 11B39.

Key words: Horadam sequence, Fibonacci sequence, Chebyshev polynomial, reciprocal series, recurrence relation, partial sum.

Statements and conclusions made in this paper by R. Frontczak are entirely those of the author. They do not necessarily reflect the views of LBBW.



Licensed under the Creative Commons BY-NC-ND4.0 International Public License.

The sequences F_n and L_n are special cases of the *gibonacci sequence* (generalized Fibonacci sequence) $G_n(a, b) = w_n(a, b; 1, -1)$. The sequence G_n was studied by A. Horadam [7] in 1961 under the notation H_n . Sequences

$$u_n(p, q) = w_n(0, 1; p, q) \quad \text{and} \quad v_n(p, q) = w_n(2, p; p, q)$$

are called the Lucas sequences of the first kind and of the second kind, respectively.

The Binet formulas for sequences u_n, v_n and w_n in the non-degenerated case, $p^2 - 4q > 0$, are

$$u_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad v_n = \alpha^n + \beta^n, \quad w_n = \frac{b - a\beta}{\alpha - \beta} \alpha^n + \frac{a\alpha - b}{\alpha - \beta} \beta^n,$$

where

$$\alpha = \frac{p + \sqrt{p^2 - 4q}}{2} \quad \text{and} \quad \beta = \frac{p - \sqrt{p^2 - 4q}}{2}$$

are the distinct zeros of the characteristic polynomial $x^2 - px + q$.

More recent results on Horadam numbers can be found in [1, 3–6, 17], among others. Also, we refer the reader to the survey papers [13, 14]. Properties of Lucas sequences can be found in [16]. The books [11, 12, 21] are excellent reference materials on Fibonacci and Lucas numbers.

Our purpose in this paper is to derive recurrence relations for the squares of the Horadam numbers. Based on these relations, we will present some related results, such as reciprocal summation identities, partial sum formulas and summation identities involving double binomial coefficients and the squares of the Horadam numbers.

2. Recurrence relations for the squares of Horadam numbers

The following identities were derived by Horadam [8]:

$$w_{m+r} = u_{r+1}w_m - qu_rw_{m-1}, \tag{1}$$

$$v_rw_m = w_{m+r} + q^r w_{m-r} \tag{2}$$

and

$$w_{n-r}w_{m+n+r} = w_nw_{m+n} + q^{n-r} e u_r u_{m+r},$$

where $e = pab - qa^2 - b^2$.

In our first theorem we state the recurrence relations for squares of Horadam numbers, which will be the key identities in the subsequent parts of the paper.

THEOREM 2.1. *Let m and r be integers. Then*

$$pw_{m+r}^2 - u_r u_{r+1} w_{m+1}^2 = -pq u_{r+1} u_{r-1} w_m^2 + q^3 u_r u_{r-1} w_{m-1}^2 \tag{3}$$

and

$$w_{m+r}^2 - q^{3r} w_{m-2r}^2 = (v_r^2 - q^r) (w_m^2 - q^r w_{m-r}^2). \tag{4}$$

Proof. Squaring identity (1) and the recurrence relation $w_{m+1} = pw_m - qw_{m-1}$ and eliminating the cross-term $w_m w_{m-1}$ between the results gives identity (3).

To derive (4), replace m by $m - r$ in the identity (2) and rearrange to obtain

$$q^r w_{m-2r} = v_r w_{m-r} - w_m. \quad (5)$$

Now identity (2) can be rearranged as

$$w_{m+r} = v_r w_m - q^r w_{m-r}. \quad (6)$$

Squaring both (5) and (6) and eliminating the cross-term $w_m w_{m-r}$ between the resulting expressions yields identity (4). \square

Choosing $p = 1$ and $q = -1$ in relation (3) gives

$$G_{m+r}^2 = F_r F_{r+1} G_{m+1}^2 + F_{r+1} F_{r-1} G_m^2 - F_r F_{r-1} G_{m-1}^2$$

of which the familiar identity

$$G_{m+2}^2 = 2G_{m+1}^2 + 2G_m^2 - G_{m-1}^2$$

is a particular case (see [9]).

The gibbonacci version of identity (4) is

$$G_{m+r}^2 - (-1)^r G_{m-2r}^2 = (L_r^2 - (-1)^r)(G_m^2 - (-1)^r G_{m-r}^2)$$

or, using $F_{3r} = (L_r - (-1)^r)F_r$ (see [11, p. 112, Formula 108]), equivalently,

$$\frac{G_{m+r}^2 - (-1)^r G_{m-2r}^2}{G_m^2 - (-1)^r G_{m-r}^2} = \frac{F_{3r}}{F_r}.$$

Since $u_n(2x, 1) = U_{n-1}(x)$ and $v_n(2x, 1) = 2T_n(x)$, the Chebyshev versions of (3) and (4), respectively, are

$$\begin{aligned} 2xT_{m+r}^2(x) &= U_{r-1}(x)U_r(x)T_{m+1}^2(x) \\ &\quad - 2xU_{r-2}(x)U_r(x)T_m^2(x) + U_{r-2}(x)U_{r-1}(x)T_{m-1}^2(x), \end{aligned}$$

$$\begin{aligned} 2xU_{m+r}^2(x) &= U_{r-1}(x)U_r(x)U_{m+1}^2(x) \\ &\quad - 2xU_{r-2}(x)U_r(x)U_m^2(x) + U_{r-2}(x)U_{r-1}(x)U_{m-1}^2(x) \end{aligned}$$

and

$$\begin{aligned} T_{m+r}^2(x) - T_{m-2r}^2(x) &= (4T_r^2(x) - 1)(T_m^2(x) - T_{m-r}^2(x)), \\ U_{m+r}^2(x) - U_{m-2r}^2(x) &= (4T_r^2(x) - 1)(U_m^2(x) - U_{m-r}^2(x)). \end{aligned}$$

For the last identities we obtain

$$\frac{T_{m+r}^2(x) - T_{m-2r}^2(x)}{T_m^2(x) - T_{m-r}^2(x)} = \frac{U_{m+r}^2(x) - U_{m-2r}^2(x)}{U_m^2(x) - U_{m-r}^2(x)}.$$

Also, these relations yield as a special case

$$T_{m+1}^2(x) - T_{m-2}^2(x) = (4x^2 - 1)(T_m^2(x) - T_{m-1}^2(x))$$

and

$$U_{m+1}^2(x) - U_{m-2}^2(x) = (4x^2 - 1)(U_m^2(x) - U_{m-1}^2(x)).$$

3. Some reciprocal series

In this section, we will use the following companion sequences:

$$h_n = w_n(a, b; p, -1), \quad s_n = u_n(p, -1), \quad r_n = w_n(a, b; p, 1), \quad t_n = u_n(p, 1).$$

From (3) the following result is an immediate consequence.

THEOREM 3.1. *For $n \geq 1$, we have*

$$\sum_{m=2}^n \frac{h_{2m}^2 - s_{m-1}h_m^2s_{m+1}}{s_{m-1}h_{m-1}^2s_m^2h_m^2s_{m+1}h_{m+1}^2} = \frac{1}{p} \left(\frac{1}{pb^2(pb+a)^2} - \frac{1}{s_n h_n^2 s_{n+1} h_{n+1}^2} \right), \quad (7)$$

$$\sum_{m=2}^{\infty} \frac{h_{2m}^2 - s_{m-1}h_m^2s_{m+1}}{s_{m-1}h_{m-1}^2s_m^2h_m^2s_{m+1}h_{m+1}^2} = \frac{1}{p^2b^2(pb+a)^2}$$

and

$$\sum_{m=2}^n \frac{(-1)^m (r_{2m}^2 + t_{m-1}r_m^2t_{m+1})}{t_{m-1}r_{m-1}^2t_m^2r_m^2t_{m+1}r_{m+1}^2} = \frac{1}{p} \left(\frac{1}{pb^2(pb-a)^2} + \frac{(-1)^n}{t_n r_n^2 t_{n+1} r_{n+1}^2} \right), \quad (8)$$

$$\sum_{m=2}^{\infty} \frac{(-1)^m (r_{2m}^2 + t_{m-1}r_m^2t_{m+1})}{t_{m-1}r_{m-1}^2t_m^2r_m^2t_{m+1}r_{m+1}^2} = \frac{1}{p^2b^2(pb-a)^2}.$$

Proof. Write (3) as

$$pw_{m+r}^2 + pq u_{r+1} u_{r-1} w_m^2 = u_r u_{r+1} w_{m+1}^2 + q^3 u_r u_{r-1} w_{m-1}^2$$

and divide both sides by $u_{r-1}u_r^2u_{r+1}w_{m-1}^2w_m^2w_{m+1}^2$ to get

$$\frac{pw_{m+r}^2}{u_{r-1}u_r^2u_{r+1}w_{m-1}^2w_m^2w_{m+1}^2} + \frac{pq}{u_r^2w_{m-1}^2w_{m+1}^2} = \frac{1}{u_{r-1}u_rw_{m-1}^2w_m^2} + \frac{q^3}{u_ru_{r+1}w_m^2w_{m+1}^2}.$$

Now, setting $q = -1$ and $r = m$, and summing over m we recognize that the right-hand side telescopes. This completes the proof of the first part.

Similarly, with $q = 1$ and $r = m$ we identify the telescoping behavior of the alternating sum. \square

RECURRENCE RELATIONS FOR THE SQUARES OF THE HORADAM NUMBERS

If we put in (7) $a = 0$, $b = 1$ and $p = 1$, then $h_m = s_m = F_m$ and using $F_{2m} = F_m L_m$ we have

$$\sum_{m=2}^n \frac{L_m^2 - F_{m-1} F_{m+1}}{F_{m-1}^3 F_m^2 F_{m+1}^3} = 1 - \frac{1}{F_n^3 F_{n+1}^3}.$$

Similarly, putting in (7) $a = 2$, $b = 1$ and $p = 1$ yields $h_m = L_m$, $s_m = F_m$ and, therefore,

$$\sum_{m=2}^n \frac{L_{2m}^2 - F_{m-1} L_m^2 F_{m+1}}{F_{m-1} L_{m-1}^2 F_m^2 L_m^2 F_{m+1} L_{m+1}^2} = \frac{1}{9} - \frac{1}{F_n L_n^2 F_{n+1} L_{n+1}^2}.$$

Focusing on Chebyshev polynomials, from (8) at $p = 2x$, $a = 1$, $b = x$ and $p = 2x$, $a = 1$, $b = 2x$ we have, respectively, the following examples (the argument x in Chebyshev polynomials is dropped to simplify notation):

$$\begin{aligned} \sum_{m=2}^n \frac{(-1)^m (T_{2m}^2 + U_{m-2} T_m^2 U_m)}{U_{m-2} T_{m-1}^2 U_{m-1}^2 T_m^2 U_m T_{m+1}^2} &= \frac{1}{2x} \left(\frac{1}{2x^3(2x^2 - 1)^2} + \frac{(-1)^n}{U_{n-1} T_n^2 U_n T_{n+1}^2} \right), \\ \sum_{m=2}^n \frac{(-1)^m (U_{2m}^2 + U_{m-2} U_m^3)}{U_{m-2} U_{m-1}^4 U_m^3 U_{m+1}^2} &= \frac{1}{2x} \left(\frac{1}{8x^3(4x^2 - 1)^2} + \frac{(-1)^n}{U_{n-1} U_n^3 U_{n+1}^2} \right). \end{aligned}$$

From (4) we can deduce the following reciprocal sum identities.

THEOREM 3.2. *For $n \geq 0$, we have*

$$\sum_{m=1}^n (-1)^m \frac{h_{m+2}^2 + h_{m-1}^2}{h_m^2 h_{m+1}^2} = (p^2 + 1) \left(\frac{(-1)^n}{h_{n+1}^2} - \frac{1}{b^2} \right), \quad (9)$$

$$\sum_{m=1}^{\infty} (-1)^{m-1} \frac{h_{m+2}^2 + h_{m-1}^2}{h_m^2 h_{m+1}^2} = \frac{p^2 + 1}{b^2} \quad (10)$$

and

$$\sum_{m=1}^n \frac{r_{m+2}^2 - r_{m-1}^2}{r_m^2 r_{m+1}^2} = (p^2 - 1) \left(\frac{1}{b^2} - \frac{1}{r_{n+1}^2} \right), \quad (11)$$

$$\sum_{m=1}^{\infty} \frac{r_{m+2}^2 - r_{m-1}^2}{r_m^2 r_{m+1}^2} = \frac{p^2 - 1}{b^2}.$$

Proof. We will prove only identities (9) and (10). The proof of the second part of the theorem, which we omit, is similar.

Replace m by $m + r$ in (4) to get

$$w_{m+2r}^2 - q^{3r} w_{m-r}^2 = (v_r^2 - q^r) (w_{m+r}^2 - q^r w_m^2),$$

which has an equivalent form as

$$(v_r^2 - q^r) \left(\frac{1}{w_m^2} - \frac{q^r}{w_{m+r}^2} \right) = \frac{w_{m+2r}^2 - q^{3r} w_{m-r}^2}{w_m^2 w_{m+r}^2}.$$

Now, setting $r = 1$ the telescoping nature of the left-hand side can be deduced. This completes the proof of (9). Upon letting $n \rightarrow +\infty$ in (9) yields (10). \square

We conclude this section with the gibbonacci version of (9) and the Chebyshev version of (11). The first is

$$\sum_{m=1}^n (-1)^m \frac{G_{m+2}^2 + G_{m-1}^2}{G_m^2 G_{m+1}^2} = \frac{2(-1)^n}{G_{n+1}^2} - \frac{2}{b^2}$$

or, equivalently,

$$\sum_{m=1}^n (-1)^m \frac{G_m^2 + G_{m+1}^2}{G_m^2 G_{m+1}^2} = \frac{(-1)^n}{G_{n+1}^2} - \frac{1}{b^2}.$$

The Chebyshev identities are stated as

$$\sum_{m=1}^n \frac{T_{m+2}^2(x) - T_{m-1}^2(x)}{T_m^2(x) T_{m+1}^2(x)} = (4x^2 - 1) \left(\frac{1}{x^2} - \frac{1}{T_{n+1}^2(x)} \right)$$

and

$$\sum_{m=1}^n \frac{U_{m+2}^2(x) - U_{m-1}^2(x)}{U_m^2(x) U_{m+1}^2(x)} = (4x^2 - 1) \left(\frac{1}{4x^2} - \frac{1}{U_{n+1}^2(x)} \right).$$

4. Partial sum of the squares of Horadam numbers

LEMMA 4.1 ([2, Lemma 2.3]). *Let X_j be any arbitrary sequence defined by the recurrence relation*

$$X_j = f_1 X_{j-c_1} + f_2 X_{j-c_2} + \cdots + f_n X_{j-c_n},$$

where f_1, f_2, \dots, f_n are arbitrary non-vanishing complex functions, not dependent on j , and c_1, c_2, \dots, c_n are fixed integers. Then the following identity holds for arbitrary x and $k \geq 0$:

$$\sum_{j=0}^k X_j z^j = \frac{\sum_{m=1}^n z^{c_m} f_m \left(\sum_{j=1}^{c_m} X_{-j} z^{-j} - \sum_{j=k-c_m+1}^k X_j z^j \right)}{1 - \sum_{m=1}^n z^{c_m} f_m}.$$

THEOREM 4.2. *For $k \geq 0$, we have*

$$\sum_{j=0}^k w_j^2 x^j = \frac{E_k(x) + F_k(x) + G_k(x) + H_k(x)}{(1 - qx)(1 + (2q - p^2)x + q^2 x^2)},$$

where

$$\begin{aligned} E_k(x) &= (p^2 - q)(x^{k+2} w_{k+1}^2 - a^2 x), & F_k(x) &= -q^3 x^2 (x^{k+1} w_k^2 - w_{-1}^2), \\ G_k(x) &= -x^{k+1} w_{k+1}^2 + a^2, & H_k(x) &= -x^{k+2} w_{k+2}^2 + b^2 x, \end{aligned}$$

with $w_{-1} = \frac{ap-b}{q}$.

Proof. Set $r = 2$ in identity (3) and rearrange to obtain

$$q(p^2 - q)w_m^2 = (p^2 - q)w_{m+1}^2 + q^3w_{m-1}^2 - w_{m+2}^2.$$

Now use Lemma 4.1 with

$$(c_1, c_2, c_3) = (-1, 1, -2)$$

and

$$(f_1, f_2, f_3) = \left(\frac{1}{q}, \frac{q^2}{p^2 - q}, \frac{1}{q(p^2 - q)} \right).$$

This yields

$$\sum_{j=0}^k w_j^2 x^j = \frac{E^*(x; k) + F^*(x; k) + G^*(x; k) + H^*(x; k)}{1 - \frac{1}{qx} - \frac{q^2 x}{p^2 - q} + \frac{1}{qx^2(p^2 - q)}},$$

where

$$\begin{aligned} E^*(x; k) &= \frac{x^{k+1}w_{k+1}^2 - w_0^2}{qx}, & F^*(x; k) &= -\frac{q^2(x^{k+1}w_k^2 - w_{-1}^2)}{p^2 - q}, \\ G^*(x; k) &= -\frac{x^{k+1}w_{k+1}^2 - w_0^2}{qx^2(p^2 - q)}, & H^*(x; k) &= -\frac{x^{k+1}w_{k+2}^2 - w_1^2}{qx(p^2 - q)}. \end{aligned}$$

Simplify and the proof is completed. \square

COROLLARY 4.3. For $k \geq 0$,

$$\begin{aligned} \sum_{j=0}^k G_j^2 x^j &= \frac{1}{(1+x)(1-3x+x^2)} \times \\ &\quad (-x^{k+2}G_{k+2}^2 + (2x-1)x^{k+1}G_{k+1}^2 + \\ &\quad x^{k+3}G_k^2 + a^2 + (b^2 - 2a^2)x - (b-a)^2x^2). \end{aligned} \quad (12)$$

Proof. Insert $w_0 = a$, $w_1 = b$, $p = 1$ and $q = -1$ in Theorem 4.2 and simplify. \square

Three particular examples of (12) are

$$\begin{aligned} \sum_{j=0}^k G_j^2 &= G_k G_{k+1} + a(a-b), \quad (13) \\ \sum_{j=0}^k G_j^2 L_j &= \frac{1}{2} (L_{k+1}G_{k+2}^2 - 5F_k G_{k+1}^2 - L_{k+2}G_k^2 + 6a^2 - 2ab - b^2), \\ \sum_{j=0}^k G_j^2 F_j &= \frac{1}{2} (F_{k+1}G_{k+2}^2 - L_k G_{k+1}^2 - F_{k+2}G_k^2 + b^2 - 2ab). \end{aligned}$$

Note that formula (13) above is well-known (for example, see [11, p. 144]).

Another interesting example is the evaluation of the alternating sum $\sum_{j=0}^k (-1)^j G_j^2$. Inserting $x = -1$ in (12), we see that the sum is expressed as a fraction with denominator 0. For the numerator on the right-hand side we get

$$\begin{aligned} & (-1)^{k+1}(G_{k+2}^2 - 3G_{k+1}^2 + G_k^2) + a^2 - b^2 + 2a^2 - (b-a)^2 \\ &= (-1)^{k+1}((G_{k+1} + G_k)^2 - 3G_{k+1}^2 + G_k^2) + a^2 - b^2 + 2a^2 - (b-a)^2 \\ &= 2(-1)^{k+2}(G_{k+1}G_{k-1} - G_k^2) + 2a^2 - 2b^2 + 2ab. \end{aligned}$$

Now, using the Catalan identity $w_{m-r}w_{m+r} - w_n^2 = eq^{m-r}u_r^2$ [7], we see that

$$G_{k+1}G_{k-1} - G_k^2 = (-1)^{k+1}(a^2 - b^2 + ab)$$

and hence that the sum is an expression of the form $\frac{0}{0}$. Therefore, we apply L'Hospital rule and get after several steps of manipulations the closed form

$$5 \sum_{j=0}^k (-1)^j G_j^2 = (-1)^k G_k(G_{k+1} + 2G_k) + (2k + 3)(a^2 + ab - b^2) + 3b^2 - 4ab.$$

5. Double binomial sums involving the squares of Horadam numbers

In this section we present double sum identities with two binomial coefficients and the squares of the Horadam numbers in the summand.

Double sums with one binomial coefficient, as well as with two binomial coefficients, evaluating to Fibonacci and Lucas numbers, have been reported in existing literature. Examples of the former are

$$\sum_{0 \leq i, j \leq n} \binom{n+i}{j-i} = F_{2n+3} - 2^n, \quad \sum_{0 \leq i, j \leq n} (-1)^j \binom{n+i}{j-i} = (-1)^n F_{2n},$$

while examples of the latter include

$$\sum_{0 \leq i, j \leq n} (-1)^i \binom{n-i}{j} \binom{i+j}{j} = F_{n+1}, \quad \sum_{0 \leq i, j \leq n} \binom{n+i}{2j} \binom{j}{i} 2^j = F_{3n+1}.$$

The above results were obtained by Kiliç and Arıkan [10]. Recently, attention has shifted to the study of double sums and triple sums with Fibonacci and Lucas numbers in the summand. For example, Taşdemir and Toska [20] presented the identity

$$\sum_{0 \leq i, j \leq n} \binom{i}{j} L_{(4t-2)i+j} = \frac{L_{2nt}F_{2(n+1)t}}{F_{2t}}, \quad t \neq 0,$$

while Ömür and Duran [15] studied triple sums with two binomial coefficients of the form

$$\sum_{0 \leq i, j, k \leq n} \binom{i}{j} \binom{j}{k} F_{ri+j+k}.$$

Taşdemir [18,19] studied triple sums with two binomial coefficients, including Lucas numbers in the summand, as well as triple sums involving three binomial coefficients and Fibonacci numbers.

LEMMA 5.1 ([2, Lemma 4.1]). *Let (X_n) be any arbitrary sequence, satisfying a four-term recurrence relation*

$$hX_n = f_1X_{n-c_1} + f_2X_{n-c_2} + f_3X_{n-c_3},$$

where h, f_1, f_2 and f_3 are arbitrary non-vanishing functions and c_1, c_2 and c_3 are integers. Then the following identities hold:

$$\sum_{j=0}^k \sum_{i=0}^j \binom{k}{j} \binom{j}{i} \left(\frac{f_1}{f_2}\right)^i \left(\frac{f_2}{f_3}\right)^j X_{n-c_3k+(c_3-c_2)j+(c_2-c_1)i} = \left(\frac{h}{f_3}\right)^k X_n,$$

$$\sum_{j=0}^k \sum_{i=0}^j \binom{k}{j} \binom{j}{i} \left(\frac{f_1}{f_3}\right)^i \left(\frac{f_3}{f_2}\right)^j X_{n-c_2k+(c_2-c_3)j+(c_3-c_1)i} = \left(\frac{h}{f_2}\right)^k X_n, \quad (14)$$

$$\sum_{j=0}^k \sum_{i=0}^j \binom{k}{j} \binom{j}{i} \left(\frac{f_2}{f_3}\right)^i \left(\frac{f_3}{f_1}\right)^j X_{n-c_1k+(c_1-c_3)j+(c_3-c_2)i} = \left(\frac{h}{f_1}\right)^k X_n, \quad (15)$$

$$\sum_{j=0}^k \sum_{i=0}^j (-1)^{k-i} \binom{k}{j} \binom{j}{i} \left(\frac{h}{f_2}\right)^i \left(\frac{f_2}{f_3}\right)^j X_{n-(c_3-c_1)k+(c_3-c_2)j+c_2i} = \left(\frac{f_1}{f_3}\right)^k X_n,$$

$$\sum_{j=0}^k \sum_{i=0}^j (-1)^{k-i} \binom{k}{j} \binom{j}{i} \left(\frac{h}{f_1}\right)^i \left(\frac{f_1}{f_3}\right)^j X_{n-(c_3-c_2)k+(c_3-c_1)j+c_1i} = \left(\frac{f_2}{f_3}\right)^k X_n,$$

$$\sum_{j=0}^k \sum_{i=0}^j (-1)^{k-i} \binom{k}{j} \binom{j}{i} \left(\frac{h}{f_1}\right)^i \left(\frac{f_1}{f_2}\right)^j X_{n-(c_2-c_3)k+(c_2-c_1)j+c_1i} = \left(\frac{f_3}{f_2}\right)^k X_n.$$

THEOREM 5.2. *Let r, n be integers and k be a non-negative integer. Then*

$$\sum_{j=0}^k \sum_{i=0}^j (-1)^{k-j} \binom{k}{j} \binom{j}{i} \left(\frac{u_{r+1}}{q^3 u_{r-1}}\right)^i \left(\frac{q^3 u_{r-1} u_r}{p}\right)^j w_{n+rk-(r+1)j+2i}^2 = (qu_{r-1}u_{r+1})^k w_n^2, \quad (16)$$

$$\sum_{j=0}^k \sum_{i=0}^j (-1)^{j-i} \binom{k}{j} \binom{j}{i} \left(\frac{u_r u_{r+1}}{p}\right)^i \left(\frac{p}{q^3 u_{r-1} u_r}\right)^j w_{n-k+(r+1)j-(r-1)i}^2 = \left(\frac{pu_{r+1}}{q^2 u_r}\right)^k w_n^2, \quad (17)$$

$$\sum_{j=0}^k \sum_{i=0}^j (-1)^{j-i} \binom{k}{j} \binom{j}{i} \left(\frac{q^3 u_{r-1} u_r}{p}\right)^i \left(\frac{p}{u_r u_{r+1}}\right)^j w_{n+k+(r-1)j-(r+1)i}^2 = \left(\frac{pq u_{r-1}}{u_r}\right)^k w_n^2, \quad (18)$$

$$\begin{aligned} \sum_{j=0}^k \sum_{i=0}^j (-1)^{j-i} \binom{k}{j} \binom{j}{i} \left(\frac{pu_{r+1}}{q^2 u_r} \right)^i \left(\frac{q^3 u_{r-1} u_r}{p} \right)^j w_{n+(r-1)k-(r+1)j+i}^2 &= \\ & \left(\frac{u_r u_{r+1}}{p} \right)^k w_n^2, \\ \sum_{j=0}^k \sum_{i=0}^j (-1)^{j-i} \binom{k}{j} \binom{j}{i} \left(\frac{pqu_{r-1}}{u_r} \right)^i \left(\frac{u_r u_{r+1}}{p} \right)^j w_{n+(r+1)k-(r-1)j-i}^2 &= \\ & \left(\frac{q^3 u_{r-1} u_r}{p} \right)^k w_n^2, \\ \sum_{j=0}^k \sum_{i=0}^j (-1)^i \binom{k}{j} \binom{j}{i} \left(\frac{pqu_{r-1}}{u_r} \right)^i \left(\frac{u_{r+1}}{q^3 u_{r-1}} \right)^j w_{n-(r+1)k+2j-i}^2 &= \\ & \left(\frac{p}{q^3 u_{r-1} u_r} \right)^k w_n^2. \end{aligned}$$

Proof. To prove (16), rearrange identity (3) as

$$pqu_{r+1}u_{r-1}w_n^2 = u_r u_{r+1} w_{n+1}^2 + q^3 u_r u_{r-1} w_{n-1}^2 - pw_{n+r}^2.$$

Make the following identifications:

$$\begin{aligned} X = w^2, \quad f_1 = u_r u_{r+1}, \quad f_2 = q^3 u_r u_{r-1}, \quad f_3 = -p, \\ c_1 = -1, \quad c_2 = 1, \quad c_3 = -r, \quad h = pqu_{r-1}u_{r+1}, \end{aligned} \quad (19)$$

and use these in Lemma 5.1.

To prove (17), use (19) in (14). To prove (18), use (19) in (15), and so on. \square

THEOREM 5.3. *Let r and n be integers. Let k be a non-negative integer. Then*

$$\begin{aligned} \sum_{j=0}^k \sum_{i=0}^j (-1)^{j-i} \binom{k}{j} \binom{j}{i} \frac{q^{(k+2j-3i)r}}{(v_r^2 - q^r)^j} w_{n-r(k-3i+j)}^2 &= w_n^2, \\ \sum_{j=0}^k \sum_{i=0}^j (-1)^{k-j} \binom{k}{j} \binom{j}{i} \frac{q^{(3k-2j-i)r}}{(v_r^2 - q^r)^{k-j+i}} w_{n-r(2k-j-2i)}^2 &= w_n^2, \\ \sum_{j=0}^k \sum_{i=0}^j (-1)^i \binom{k}{j} \binom{j}{i} \frac{q^{(2i+j)r}}{(v_r^2 - q^r)^{k-j+i}} w_{n+r(k-2j-i)}^2 &= w_n^2, \\ \sum_{j=0}^k \sum_{i=0}^j (-1)^i \binom{k}{j} \binom{j}{i} q^{(3j-2i)r} (v_r^2 - q^r)^{k-j+i} w_{n-r(k+2j-i)}^2 &= w_n^2, \\ \sum_{j=0}^k \sum_{i=0}^j (-1)^i \binom{k}{j} \binom{j}{i} \frac{(v_r^2 - q^r)^{k-j+i}}{q^{(j+2k)r}} w_{n+r(k+2j-i)}^2 &= w_n^2, \\ \sum_{j=0}^k \sum_{i=0}^j (-1)^{j-i} \binom{k}{j} \binom{j}{i} \frac{q^{(2k-3j)r}}{(v_r^2 - q^r)^{k-i}} w_{n-r(k-3j+i)}^2 &= w_n^2. \end{aligned} \quad (20)$$

RECURRENCE RELATIONS FOR THE SQUARES OF THE HORADAM NUMBERS

Proof. To prove (20), write identity (4) as

$$(v_r^2 - q^r)w_n^2 = w_{n+r}^2 - q^{3r}w_{n-2r}^2 + q^r(v_r^2 - q^r)w_{n-r}^2,$$

then make the identifications

$$(f_1, f_2, f_3) = (1, -q^{3r}, q^r(v_r^2 - q^r)), \quad (c_1, c_2, c_3) = (-r, 2r, r), \quad h = v_r^2 - q^r$$

and use these in Lemma 5.1. □

The special case of Theorem 5.3 when $w_n = F_n$, $v_n = L_n$ and $r = 1$ can be stated as ($n \geq 0$):

$$\begin{aligned} \sum_{j=0}^n \sum_{i=0}^j \left(-\frac{1}{2}\right)^j \binom{n}{j} \binom{j}{i} F_{3i-j}^2 &= (-1)^n F_n^2, \\ \sum_{j=0}^n \sum_{i=0}^j \left(-\frac{1}{2}\right)^{n-j+i} \binom{n}{j} \binom{j}{i} F_{2i+j}^2 &= (-1)^n F_{2n}^2, \\ \sum_{j=0}^n \sum_{i=0}^j \left(-\frac{1}{2}\right)^{n-j+i} \binom{n}{j} \binom{j}{i} F_{2n-i-2j}^2 &= (-1)^n F_n^2, \\ \sum_{j=0}^n \sum_{i=0}^j (-2)^{n-j+i} \binom{n}{j} \binom{j}{i} F_{i-2j}^2 &= (-1)^n F_n^2, \\ \sum_{j=0}^n \sum_{i=0}^j (-2)^{n-j+i} \binom{n}{j} \binom{j}{i} F_{2n-i+2j}^2 &= (-1)^n F_n^2 \end{aligned}$$

and

$$\sum_{j=0}^n \sum_{i=0}^j \left(-\frac{1}{2}\right)^{n-i} \binom{n}{j} \binom{j}{i} F_{3j-i}^2 = (-1)^n F_n^2.$$

REFERENCES

- [1] ADEGOKE, K.: *A master identity for Horadam numbers*, preprint, 2019; available at <https://arxiv.org/abs/1903.11057>.
- [2] ADEGOKE, K.: *Weighted tribonacci sums*, Konuralp J. Math. **8** (2020), no. 2, 355–360.
- [3] ADEGOKE, K.—FRONTCZAK, R.—GOY, T.: *Partial sum of the products of the Horadam numbers with indices in arithmetic progression*, Notes Number Theory Discrete Math. **27** (2021), no. 2, 54–63.
- [4] FRONTCZAK, R.: *A short remark on Horadam identities with binomial coefficients*, Ann. Math. Inform. **54** (2021), 5–13.
- [5] GOY, T.: *Horadam sequence through recurrent determinants of tridiagonal matrix*, Kragujevac J. Math. **42** (2018), no. 4, 527–532.
- [6] GOY, T.—SHATTUCK, M.: *Determinants of Toeplitz-Hessenberg matrices with generalized Fibonacci entries*, Notes Number Theory Discrete Math. **25** (2019), no. 4, 83–95.
- [7] HORADAM, A. F.: *A generalized Fibonacci sequence*, Amer. Math. Monthly **68** (1961), no. 5, 455–459.
- [8] HORADAM, A. F.: *Basic properties of a certain generalized sequence of numbers*, Fibonacci Quart. **3** (1965), no. 3, 161–176.
- [9] HORADAM, A. F.: *Pell identities*, Fibonacci Quart. **9** (1971), no. 3, 245–252, 263.

- [10] KILIÇ, E.—ARIKAN, T.: *Double binomial sums and double sums related with certain linear recurrences of various order*, Chiang Mai J. Sci. **45** (2018), no. 3, 1569–1577.
- [11] KOSHY, T.: *Fibonacci and Lucas Numbers with Applications*, Vol. 1. Second edition of [MR1855020]. In: *Pure and Applied Mathematics (Hoboken)*. John Wiley & Sons, Inc., Hoboken, NJ, 2018.
- [12] KOSHY, T.: *Fibonacci and Lucas Numbers with Applications*, Vol. 2, In: *Pure and Applied Mathematics (Hoboken)*. John Wiley & Sons, Inc., Hoboken, NJ, 2019.
- [13] LARCOMBE, P.J.: *Horadam sequences: a survey update and extension*, Bull. Inst. Combin. Appl. **80** (2017), 99–118.
- [14] LARCOMBE, P.J.—BAGDASAR, O.D.—FENNESSEY, E.J.: *Horadam sequences: a survey*, Bull. Inst. Combin. Appl. **67** (2013), 49–72.
- [15] ÖMÜR, N.—DURAN, Ö.: *On binomial triple sums involving Fibonacci and Lucas numbers*, Honam Math. J. **42** (2020), no. 1, 49–62.
- [16] RIBENBOIM, P.: *My Numbers, my Friends*. (Popular lectures on number theory). Springer-Verlag, New York, 2000.
- [17] STĂNICĂ, P.: *Generating functions, weighted and non-weighted sums for powers of second order recurrence sequences*, Fibonacci Quart. **41** (2003), no. 4, 321–333.
- [18] TAŞDEMİR, F.: *Binomial triple sums with the Lucas numbers*, Punjab Univ. J. Math. **52** (2020), no. 7, 37–43.
- [19] TAŞDEMİR, F.: *Triple sums including Fibonacci numbers with three binomial coefficients*, Notes on Number Theory and Discrete Math. **27** (2021), no. 1, 188–197.
- [20] TAŞDEMİR, F.—TOSKA, T. G.: *Formulas for binomial double sums related to Lucas numbers*, Ars Combin. **152** (2020), 235–246.
- [21] VAJDA, S.: *Fibonacci & Lucas Numbers, and the Golden Section: Theory and Applications*. Courier Corporation, Dover Press, 2008.

Received March 15, 2021

Kunle Adegoke
Department of Physics and Engineering Physics
Obafemi Awolowo University
220005, Ile-Ife
NIGERIA
E-mail: adegoke00@gmail.com

Robert Frontczak
Landesbank Baden-Württemberg
Am Hauptbahnhof 2
70173 Stuttgart
GERMANY
E-mail: robert.frontczak@lbbw.de

Taras Goy
Faculty of Mathematics and Computer Science
Vasyl Stefanyk Precarpathian National University
Shevchenko Str. 57
76018 Ivano-Frankivsk
UKRAINE
E-mail: taras.goy@pnu.edu.ua